
Baraboo Switching Puzzle
Definitions:

There are two new terms used in this puzzle that may not be familiar to someone new to these railroad switching puzzles.

1.  Off spot = A location near an industry used to hold freight cars that cannot fit at the industry loading/unloading spot. Example:  An industry dock can hold 2 cars, but there are 3 cars to be set out at that industry.  One car would be placed on an empty track space (off spot) near that industry.

2.  Drill space = A specified length of track that can temporarily hold a certain number of freight cars during switching moves. This area must be clear when switching is complete.

Puzzle Challenge:
An east bound train with 9 cars arrives on the main in Baraboo with work to do including 4 set outs and 5 pick ups at local industries. Using the attached Start of Job diagram, and using the fewest moves possible, do the following:
Pick up 11, 12, 15, 16, 21.

Move 13, 14 from off spot to Seneca Foods.

Move 18 from off spot to Flambeau Plastics.

Set out 3 to Perry Printing.

Set out 1, 2 to Seneca/Perry Off spot.

Set out 4 to Flambeau Plastics off spot.

Cars on spurs must be located as shown on Job Done diagram.
Cars picked up may be placed at head of train in any order in front of car 5.

**Drill spaces must be clear of cars when work is complete.

**Cars that are moved to get other cars must be returned to their original location.

Remember:  A move counts as any one set out, or one pick up. (i.e. uncoupling the loco on the main from the train counts as one move—set out 1, 2, 3, 4, 5, 6, 7, 8, 9 on main.)

Have fun, and good luck!

